Parts i?:rfice List

Parts for models with
combination change from
secure side of door only

Accessory Kit
(1) Thick Door Kit @
(1) Thin Door Kit
(2) 27%" Screws
(2) Combination Latch Screws
(1) Allen Wrench
(1) Combination Change Tool
(2) Inside Lever Set Screws
(1) Cylinder Keeper
(4) Rubber Bumpers
(2) Outside Lever Set Screws
(4) Standard Mounting Screws

Key In Lever
Key Override

KEYPRINT®

SECURITY LTD

45 Assembly Street Edinburgh EH6 7BQ
Tel: 0131 555 0909 Fax: 0131 554 1177
Email: sales@keyprint.co.uk
Website: www.keyprint.co.uk



Iltem  Qty/Lock Description Finish Part Number
Satin Chrome 34197-26D-01
; : Bright Brass 34197-03-01
E 1 Outside Lever=jsl Satin Brass 34197-04-01
Duranodic 34197-55-01
1 Outside Lever Set Screw (KIL and I/C), 8-32 x 14" (3 mm), 10/Bag 54544-000-10
1 Kaba KIL Cylinder (w/keys), Keyed Different I g:::z g:l;;);ne 22228'32%1()1
Kaba 90 Key Blank, 50/Box - Order from Rocky Mount (800) 334-1381 KABA 90
4 1 Kaba 15396 Cylinder E-Clip, 10/Bag 54537-000-10
5 1 Tailpiece Accessory Kit 74892-000-01
6 2 Bearing Housing 34191-000-01
Satin Chrome 341 99_»260»01
Outside Lever - Schlage ggg:tBBr;assss gi;‘ggzgig:
Duranodic 34199-55-01
Satin Chrome 34204-26D-01
7 1 Outside Lever - Assa/Medeco/ Yale g;g;ﬂBBr;sss 323828281
Duranodic 34204-55-01
Satin Chrome 34203-26D-01
; ) Bright Brass 34203-03-01
BIREIESESaiEEes] Satin Brass 34203-04-01
Duranodic 34203-55-01
Tailpiece - Assa/Medeco/Yale 74836-000-01
B Tailpiece - Best, 6 Pin 24467-000-01
1 Tailpiece - Best, 7 Pin 24469-000-01
Tailpiece - Schlage 74835-000-01
Satin Chrome 74842-26D-01
9A Outside Housing Assembly g;ﬁgts?,;?ss ;jgiggzg::
1 Duranodic 74842-55-01
Satin Chrome 74877-26D-01
; . : . Bright Brass 74877-03-01
9B Outside Housing Assembly - with Interior Code Change Satin Brass —4877-04-01
Duranodic 74877-55-01
10 1 Bearing Driver 34189-000-01
11 1 Extension Sleeve Assembly 74840-000-01
12 1 Acluator Button Spring, 10/Bag 54514-000-10
13 1 Outside Base Assembly 74888-000-01
14 2 Sems Screw, Phillips 6-32 x %s" {11 mm) for Chamber Mounting, 10/Bag 201954-000-10
15 1 Combination Chamber 74832-000-01
16 1 Bracket, Interior Code Change 54503-000-01
17 1 Cam, Interior Code Change 54504-000-01
18 1 Ya" (7 mm) Spacer, Door Thickness 34195-000-01
19 1 Cylindrical Drive Unit Assembly (CDU) 74841-000-01
20 2 Screw, Outside Base, 10/Bag 54461-000-10
1 5 Connecting Screw, Phillips 8-32 x 13&" (35 mm) for CDU Mounting, 10/Bag 54471-000-10
Connecting Screw, Phillips 8-32 x 1%" (41 mm) for CDU Mounting, 10/Bag 54472-000-10
- 4 4" (13 mm) Floating Front Throw Latch, 2 34" gﬁgﬂt%hrgze ggg}gggg%? g
(70 mm) Backset Satin Brass 204168-04-01
ASA Strike for 47" (124 mm) Long Cutout Sf}gﬂt%hrr:s“;e e ol
23 1 :
: Satin Chrome 204167-26D-01
=landardisilie Flalo Bright Brass 504167-03-01
Satin Chrome 74844-26D-01
24A Inside Housing Assembly ggﬁﬂtaﬂﬁs ;igijgig}
4 Duranodic 74844-55-01
Satin Chrome 74876-26D-01
24B Inside Housing Assembly - with Interior Code Change Sga:t;:f; ;ig;ggig]
Duranodic 74876-55-01
25 1 Set Screw, Inside Lever, 10/Bag 54463-000-10
Satin Chrome 34186-26D-01
) Bright Brass 34186-03-01
£ L MLy Satin Brass 34186-04-01
Duranodic 34186-55-01
27 1 Torx Screw, Interior Code Change 54505-000-01
28 1 Torx Key, Interior Code Change 54506-000-01
29 1 Accessory Kit 74859-000-01

KAA1024 07/03

Kaba lico is a subsidiary of Kaba Holding AG



